
(}Flirtre tr $$' T-r{Ii ct]h'{t}TR(}t,t,}:}t A$il} ALil}tr'[(}tt {;H\ }.tt,"u. t}F lr{ut.{
I{E\T ilTII-H{

hier.ifJS$ta{T { ;\ pp}*l,I I Q-}t}t-}
il&tcdrlt.fill.:.i]:-'t

CI"ARtrFTCATIT}N

A *ews is circuli:.tin$ in s*m* s*c{ii:ns o"rl'msdii} that t$r* *ftlr,* rr{'the il*rlptr\:l$sr i}$d
Autlitr:r {ir:meral *f }ndix $ras ir"rrited apptir;lri*n* ltr ths psst sl"rrrirtrinlsfra1ir,*
Assistunt.

h: thix rcgnrd. it is iltli:n::*d tfu*t the dru{i I{*crulrnienr {{ulqs lirr thr p*sr r:i'
Adrnilrirtratilc -Arsislan{ tl.evsl 4 i* pir3,n:;rtrix} w*rc upl*adeqi {:n }$"t}l{.:{ilj tr:r
ini'iting {i}ffit}}*t:l$ c}}" rtakrhuidcrr in krryr$ q-l!'ixsrrur;ti*r:as issurd h3, tit* l}egr*rtment
ill'l'rrrs*nrrcl $nrl 'l ri:is:ing. {i*r:*rnrn*nt *i'lnilia. vicJ* t}$$ d-*terj t }. I i}.}11 I s"

It is *lnrifr*$ that this is n*f ixt*nrle*l t* h* * rerr*ifm*nt *$ti{i* lrx*l nll
slakehulders arc adris*tl not tr tn$le notir* ni'*nr misicarling flrns dpp€ilrlng,rn
sqxia$ rurttis trr *ther medisr platf*rms.

"I^he-r' rtr* alsr: *dvised that rl'rc-r.' sh*uiiJ n*l subn'l$t an-t. appii*ati*n {irr rc*r*itmen{. i*
rcsfrlnse io the ahole ffitllli,_rfirJ rr.r{ier:"
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f *1r, a6-9fr-c B,qr'qr:n t ft rsnqft'F r{f,.rqr (E-d-d qtqq * qar +3 w r* h
fffir r$xtdr Htr k{q'. qrfi'Tffiqr{ s mTffiT qq raI$q fr'firr gi-a1 q;Tqt,Tq f,-{irT
ftqi{ t3.t0.ltil5 *,'q"raq.tr q. qrfr frT*rT k;iq"g q. k{"?i]q-{ g; ffi:rN"i sTrt&i{
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